SCIENCE

A Highly Simulated Practice Questions Paper for
CBSE Class X Examination

Time: 3 hrs Max. Marks : 80

Instructions

(1) The question paper comprises four Sections A, B, C and D. There are 36 questions in the question
paper. All questions are compulsory.

(i) Section A Qns. 1 to 20 all questions and parts there of are of one mark each. These questions
contain multiple choice questions (MC@s), very short answer questions and assertion-reason type
questions, Answers to these should be given in one word or one sentence.

(iii) Section B Qns. 21 to 26 are short answer type questions, carrying 2 marks each. Answers to
these questions should in the range of 30 to 50 words. '

(iv) Section C Qns. 27 to 33 are short answer type questions, carrying 3 marks each. Answers to
these questions should in the range of 50 to 80 words.

(v) Section D Qns. 34 to 36 are long answer type question carrying 5 marks each. Answer to these
questions should be in the range of 80 to 120 words.

(vi) There is no overall choice. However, internal choices have been provided in some questions. A student
has to attempt only one of the alternatives in such questions

(vii) Wherever necessary, neat and properly labelled diagrams should be drawn.

" Section A

1. Why carbon dioxide is mostly transported in dissolved form in our blood?

2. What happens when sodium carbonate decahydrate is heated?
Or

What happens when nitric acid is added to egg shell?

3. Byusing which type of mirror, the full length image of a distant tall tree can definitely be seen?

* You are advised to afterﬁpt this sample paper without referring the answers glven here. However, cross check your answers
With the answers given at the end of paper after you complete the paper. _
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4. The positions of four elements A, B, C and X in the modern periodic table are ShDWn
below.

Which of the given element forms amphoteric oxide?

5. What is F,-generation?

Or i ]

Which type of organism will have more variations sexually or reproducing-i
organisms? Justify. k

6. When Ca(NO3 ), is heated, it gives Ca0, NO,(g) and O,(g). The correct number i
of moles of Ca(NO3),, CaO, NO,(g) and O,(g) present in the reaction are. é
respectively...... : il

7. You are given petrol, water, diesel and glycerine. In which of these media, a ray nf;: f
light incident obliquely at same angle would bend the most? B

8. Barium chloride solution is mixed with copper sulphate solution and a white
precipitate is obtained. Write the chemical equation. '

Or

A solution of a substance X is used for white washing. Name the substance X and its ?.
formula and also write the reaction of the substance X with water., B

B

9. Define atmospheric refraction.
10. Why does a ray of light bend when it travels from one medium to another?
Or
Which phenomenon is responsible for making the path of light visible?

T1. Name the metal which is liquid at room temperature.

T2. Write one application of magnetic field of current carrying solenoid.
Or
Mention two ways to induce current in a coil.

13. Blood flows from legs to heart against the gravity through the veins. Give reason-
Assertion-Reason Type Questions (Q. Nos. 14-16) '

In each of the following questions, a statement of Assertion is given by the correspondt”
slatement of Reason. Of the statements, mark the correct answer as '

(a) If both Assertion and Reason are true and Reason is the correct explanation of Assertio?
(b) If both Assertion and Reason are true, but Reason is not the correct explanation of A.‘SS*EFUD_I.1
(c) If Assertion is true, but Reason is false. :

() If Assertinn is falea hit Ronnam o« e
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A Read the following and answey any four questions from 17 (i) to 17 (v).

Study these table related to answer any four questions that follow :

. Elomont Aomicnumbor

e O e B

S T

—
—L T
ey o

Answer the questions based on the table given above.
17. (i) Element ‘E’ shows {ollowing properties
(i) It show catenation.
(ii) Valency of E is +3.
(iii)} Tt is metallic in nature.
(iv) It is element of 14th group and 2nd period.
Which of the above properties are correct?

(a) (3), (ii) (b) (i), (i), (iv)
(c) (i), (iv) (d) All of above
. 17. (i) Ascending order for electronegativity of given clement is
| () D <C<B (b) C<B <D
(c) B<D<C (d) B<C<D. '
7. (iii) Which element can easily form an ionic bond with element C?
(a) A ' (b) B
(c) D (d)y E
17. (iv) Which pair of element belong to same gl'()lil]}?
(@)(A4,B) =~ (b) (B, (‘,)
(c) (C, D) (d) (D, E)

tements is correct?

" (v) Which of the following stater
ative element.

(a) D is the most electroncg
(b) Ais the inert gas element.
(c) Element B is metallic in nature.
(d) All of the above
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18. Read the following and answer any four questions from 18 (i) to 18 (),

The uterus or womb is a hollow, pear-shaped organ in a women's lower stomach
betwe.efl the bladdar and rectum. It sheds the lining each month during menstruatiop
A fertilised egg become implanted in the uterus and the foetus develops.

A

18. (i) Name the part labelled A and B.

(a) Umbilical cord and placenta

(b) Umbilical cord and Graafian follicle

(c) Fallpian tube and Graafian follicle

(d) Cytoplasm and umbilical cord
18. (ii) What determines the sex of a child?

(a) Chromosome content of the ovum

(b) Chromosome content of the sperm

(c) Number of days between ovulation and fertilisation

(d) Number of days between fertilisation and implantation
18. (iii) Main function of amniotic fluid is

(a) shock absorber (b) exchange of nutrients

(c) dissolving the wall of egg cell (d) secretion of enzymes
18. (iv) Human uterus is

(a) paired with well separated oviducts

(b) single large chamber with posterior part of oviduct fused to it anteriorly

(c) paired with partially fused oviducts

(d) a single large chamber with completely fused oviduct.

18. (v) The table gives the average dietary requirements of iron in mg per day for females
and males of various ages.

Age/years Females Males
1 T 7
10 11 10
20 15 10
pregnant 13 -
lactating 14 -
50 10 10

Why does the 20-year old female require the highest dietary intake of iron?
(a) to act as a store for pregnancy

(b) to make up for menstrual losses
(c) to promote protein synthesis
(d) to provide for milk production
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19. Read the following and answer any four questions from 19 (i) to 19 (v).
Lens is a piece of transparent glass bound by two spherical surfaces. They are of two

. is object distance, v is image distance and fis focal length. Focal length of convex lens
is positive, whereas focal length of concave lens is negative. The linear magnificat.ion
produced by lens is equal to the ratio of image distance to the object dxstance.-If the
magnification has positive value, the image is virtual and erect. And if the
magnification has a negative value, the image will be real and inverted.

19. (i) The following figures show the path of light rays through three lenses marked L,, L,
and L3 and their focal points F,, F, and F3, respectively.

— */ P
R

L1 ;’_2 L3

Outof L, L, and L; concave lens/lenses is/are
(a) only L; : (b) only L,
(c) only L (d) Both Ljand L3
19. (ii) If an object is placed at a distance of 12 cm from the convex lens of focal length 8 cm,
the image distance will be
(a) 12cm (b) 24 cm
(c) 36 cm (d) 48 cm :
19, (iii) Which of the figures represents correct path of the ray through the optical centre of a
thin convex lens?

i
(a) \\(\ (b) %_

b
) (d)\\m
AN

(c)

d at 2F, in front of a convex lens. The position of the image will be

19, (i iect is place
9. (iv) An object is pla b) at F,

Ei; lizflzld 2F (d) None of these

19. (v) The most correct statement(s) for drawing the ray diagram fo'r a convex lens is/are
(a) aray of light passing through the principal focus goes unde:vnated.
(b) a ray of light passing through the optical centre goes undevlatefi. : ey
(c) o 3; of Ifgght passing through the lens parallel to principal axis passes through the
ara
focus after refraction.

(d) Both (b) and (c)
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20. Read the following and answer any four questions from 20 (i) to 20 (v).

Nephron, functional unit of kidney, the structure that actually produces urine in the
process of removing waste and excess substances from the blood.

20. (i) Label A signify.
(a) Collecting duct "~ (b) Bowman capsule
(c) PCT (d) DCT

20. (ii) Urea is produced in one organ, filtered from the blood by a second organ and stored
inside a third organ before being expelled from the body. Which organs carry out

these functions?

Production Filtration Storage
(a) kidney bladder liver
(b) kidney liver bladder
(c) liver bladder kidney
(d) liver kidney bladder

20. (iii) The diagram represents the liver, kindney and some associated blood.
In which vessel will the blood contain the lowest concentration of urea?

\o>—D—— liver  ——A——

| | T
I

No—C——  kidney ——p—<
, lus i

(a)Aand B (b)Cand B
(c)Cand D - (dAandD
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- 20. (iv) The correct order of processes that occur in urine formation is

(a) glomerular filtration — secretion — reabsorption
(b) secretion — glomerular filtration — reabsorption
(c) glomerular filtration — reabsorption — sccretion

~ (d) secretion — reabsorption — glomerular filtration

(v) Order of toxicity among ammonia, urea and uric acid (from lower to higher) is
(a) uric acid < urea < ammonia :
(b) uric acid < ammonia < urea
(c) uric acid < uric acid < ammonia
(d) uric acid < urea< uric acid

Section B
21. When electricity is passed through an aqueous solution of sodium chloride, three
products are obtained. Then, why is the process called chlor-alkali process?

2_2- Ar} tf:lectl‘ic iron consumes energy at a rate of 840 W when the heating is at the
~ minimum rate and 360 W when the heating is at the minimum rate. The applied
voltage is 220 V. What is the value of current and the resistance in each case?

23. Write any two properties of ionic compounds.
Or
Show the formation of aluminium chloride by the transfer of electrons between the
- atoms. (Atomic number of aluminium and chlorine are 13 and 17 respectively).

24. Describe the components of blood along with their functions.

Or
(i) Describe the rule of Fallopian tubes in the female reproductive system.
(ii) Explain placenta.
25. (i) Discuss the symptoms of the following bacterial diseases.

~ (a) Gonorrhoea (b) Syphilis
(ii) Write the full form of the following.
(a) AIDS (b) HIV

26. (i) In which direction does the wire shown in the diagram given below tend to move?

/
(ii) In an experiment, there are two coils wound on a non-conducting cylindrical rod.
Initially, key is not inserted. Discuss the case when key is inserted and when it is

removed.
Coil | Coll Il

(I i O

K ﬂt?‘\
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Section C

27, Describe the loeation, structure nnd functions of kidney in human beings,

28. State which of the following chemical reactions will take place or which i) not, -
giving suitable reason for cnch? -
(i) Zn(s) + CuSO, (ag) —» ZnSO4 (ag) + Cu ()
(i) Fe(s)+ ZnsS0y (aq)——> eSO (ag) Zn(s)
(iii) Zn(s)+ FeSO, (ag) —> ZnSO4(aq) -+ Mo(s)
29, Give reason, why
(i) connecting wires are made of copper,
(i) nichrome is used to make the element of clectric heater and
(i) the 500 W bulb glows with more brightness than a 200 W bulb?
Or
(i) A student carvies out an experiment and plots the V-I' graph of three samples of
nichrome wire with resistances Ry, R, and R3, respectively as shown in figure,
Interpret the graph by considering Ry, R, and Rj3 in proper order. |

Ay
) Az
3.
V(volt)

(ii) Why does the electrical resistivity of a given metallic wire depend on the nature of the
material? ‘

30. Describe the stages of respiration.

Line from artery
to pump

Tubing made up of
a selectively permeable
membrane

31.

Dialysing

Line from :
solution

apparatus
to vein

e PP e N e G L UL G T

[E by i

=
Used dialysing solution
(with urea and excess salts) g
(i) Identify the process taking place in the diagram. When does this process becor
essential for an individual? '

(ii) Describe the above process in detail.

Fresh dialysing
solution
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éz, During the reaction of some metals with dilute hydrochloric acid, following
: observations were made. ;
(i) The temperature of the reaction mixture rises when aluminium (Al) is added.
(ii) The reaction of sodium metal is found to be highly explosive.
(iii) Some bubbles of a gas are seen when lead (Pb) is reacted with the acid. Explain these
observations giving suitable reasons.

33. (i) A convex lens made of a material of refractive index n, is kept in a medium of
: refractive index 7. A parallel beam of light is incident on the lens. Draw the path of
rays of light emerging from the convex lens, if
(@) my<n,
(b) g =n,
(ii) If the magnification of the image formed by a mirror is negative, then what does it
mean?

Section D
34 Write the structural formulae of all the isomers of an alkane with six C-atoms(CgHye )-

Or
Explain the nature of the covalent bond using the bond formation in CH;Cl.

35. ‘Length of food chains in an ecosystem is generally limited to three or four trophic
levels’. Justify the statement.

36. Give the answer of for following questions.
(i) Compare the power used in 2 Q resistor in each of the following circuits

(a) a 6 V battery in series with 1 Q and 2 Q resistors,
(b) a 4 V battery in parallel with 12 Q and 2Q resistors.

(ii) How does the resistance of a wire vary with its area of cross-section?

Or

(i) A current of 1 A flows in a series circuit having an electric lamp and a conlductor of

5 when connected to a 10 V battery. Calculate the resistance of the electric lamp.

(ii) Now, ifa resistance of 10Qis connected in parallel with this series combinaticn, th:an
what change (if any) in current flowing through 5Q conductor and potential

difference across the lamp will take place? Give reason.
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